Alg 2 Problem Set # 3                                                 Name_________________

Date due_________



NO WORK = NO CREDIT!!!…..SHOW ALL WORK!

	1. Rearrange the equation into standard form and label a, b, c.
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a=_____ b=_____  c=_____
	2-3. Solve the equation using the quadratic formula.
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	4.  Determine the  y intercept as an ordered pair.
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	5. Solve using the formula  
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  The Jones family drove 55 mi per hr for 357.5 miles.  How many hours did the family drive?
	6. Solve the following inequality and graph.
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	7.  Solve the following for x:
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8.  Convert 21 days to hours.
	


Evaluate each function for the given value of x, and write the input x and the output f (x) as an ordered pair.
9. f(x) = (3x + 2 for x = 3
10.
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11. f(x) = 5x ( 22 for x = 12
12. f(x) = (5x ( 3 for x = (7
13. 
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Write a function rule to model the cost of renting a truck for one day. Then evaluate the function for the given number of miles.
15. Daily rental: $19.95
16. Daily rental: $39.95
Rate per mile: $.50 per mile
Rate per mile: $.60 per mile
Miles traveled: 73 miles
Miles traveled: 48 miles
Find the domain and range of each relation, and determine whether it is a function.
17.
18.

19. The surface area of a sphere is a function of the radius of the sphere: A = 4πr2. Evaluate the function for a basketball with a radius of 11.5 cm.
20. The relation between the length of the femur f, the bone from the knee to the hip joint, and the height of an adult woman h is modeled by the function h(f) = 2.3f + 24. In the following ordered pairs, the first coordinate is the femur length and the second coordinate is the corresponding height, in inches. Find the unknown measure in each ordered pair.
a. (13, t)
b. (14.5, p)
c. (m, 56.2)
d. (n, 72.3)
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